

Applied Mathematics & Information Sciences An International Journal

http://dx.doi.org/10.12785/amis/090434

On Oscillatory Solution of Delay Differential Equation and Sufficient Condition using Sumudu Transform

Hassan Eltayeb¹ and Adem Kılıçman^{2,*}

¹ Mathematics Department, College of Science, King Saud University, P.O. Box 2455, Riyadh 11451, Saudi Arabia

Received: 4 Nov. 2014, Revised: 4 Feb. 2015, Accepted: 5 Feb. 2015

Published online: 1 Jul. 2015

Abstract: In this study we develop sufficient condition in order to determine the solution of delay differential equation is oscillatory or not oscillatory further we also obtain a polynomial approximation to determine the stability of the solutions.

Keywords: delay differential equation, oscillatory solution, Volterra integral equation, stability of solution, Sumudu transform.

1 Introduction

Delay differential equations (DDEs) appear in the models throughout the several applications, see for example [1]. Much of the work that has been done treats DDEs with one or a few discrete delays. A number of realistic physiological models however include distributed delays and a problem of particular interest is to determine the stability of the steady state solutions. For applications in physiological systems, see [2, 3, 4]. The results concerning existence, uniqueness and continuous dependence of Eq (4) can be found in [5, 6, 7] and the asymptotic behavior of the solutions has been studied elsewhere, see, e.g., [8]. From the theoretical point of view the most important class of functions f(t) for which the Sumudu transform is defined is the set of exponentially bounded functions. A function f(t), defined on $[0,\infty)$, is exponentially bounded there if there is a positive $K \in \mathbb{R}^+$ and a real number, $\frac{1}{\gamma}$, such that $|f(t)| < Ke^{\frac{x}{\gamma}}, t \in [0,\infty)$. It is straightforward to see, for example, that all of the generalized exponential functions lie in this class of functions.

In this study we prove a criteria as sufficient condition in order to determine whether solution is oscillatory or non oscillatory for delay differential equation. The present approach is based on the method of Sumudu transform which was not used yet to study oscillation of delay differential equations. Further we also obtain a polynomial as an approximation to determine the stability of the solutions. First of all we need the some preliminaries.

Proposition 1.If the function f(t) is exponentially bounded, i.e., if for some K>0 and some real $\frac{1}{\gamma}$ we have $|f(t)| < Ke^{\frac{t}{\gamma}}$, $t \in [0,\infty)$ then the corresponding Sumudu integral

$$F(u) = S[f(t)] = \frac{1}{u} \int_0^\infty e^{-\frac{t}{u}} f(t) dt$$

converges, and thus the Sumudu transform is defined, for all $u>\gamma$ or $\frac{1}{\alpha}<\frac{1}{\gamma}$.

Proof.See [9]

Remark. For related current studies with Sumudu transform we refer to ([10] - [14]). We further note that, under these circumstances, F(u) is defined for all complex $u=\frac{1}{\alpha}+\frac{i}{\beta}$ for which $Reu=\frac{1}{\alpha}<\frac{1}{\gamma}$ so that F(u) is defined in the whole right half complex plane $Reu<\frac{1}{\gamma}$ The smallest value of $\frac{1}{\gamma}$ for which $|f(t)|< Ke^{\frac{t}{\gamma}}$, $t\in [0,\infty)$ for some K>0 is called the abscissa of convergence of F(u).

² Department of Mathematics and Institute for Mathematical Research, Universiti Putra Malaysia, UPM, 43400 Serdang, Selangor, Malaysia

^{*} Corresponding author e-mail: akilic@upm.edu.my



Consider the system of

$$\frac{dy}{dt} = py + \int_0^t D(t - s)y(s)ds + F(t),\tag{1}$$

and

$$\frac{dy}{dt} = py + \int_0^t D(t-s)y(s)ds,\tag{2}$$

in which p is an $n \times n$ constant matrix, D(t) an $n \times n$ matrix of functions continuous on $[0,\infty)$, and $F:[0,\infty) \to R^n$ continuous. We suppose further that |F(t)| and |D(t)| may be bounded by a function Ke^{at} for K>0 and a>0. That is, F and D are said to be of exponential order.

Theorem 1.Let Z(t) be the $n \times n$ matrix whose columns are solutions of Eq (2) with Z(0) = I. Then the solution of Eq (1) satisfying $y(0) = y_0$ is given by

$$y(t) = Z(t)y_0 + \int_0^t Z(t-s)F(s)ds.$$
 (3)

*Proof.*Notice that Z(t) satisfies Eq (2) thus

$$\frac{dZ}{dt} = pZ(t) + \int_0^t D(t-s)Z(s)ds.$$

We first suppose that F and D are in $L^1[O,\infty)$. If we convert Eq (1) into an integral equation, we have

$$y(t) = y(0) + \int_0^t F(s)ds + \int_0^t \left[p + \int_s^t D(x - s)dx \right] y(s)ds,$$

and as D and F are in L^1 , we have

$$|y(t)| \le |y(0)| + k + k \int_0^t |y(s)| ds,$$

some k > 0 and $0 \le t < \infty$. By Gronwall's inequality we have

$$|y(t)| \le [|y(0)| + k]e^{kt}$$
.

Thus both y(t) and Z(t) are of exponential order, so then the transform exists and taking their Sumudu transforms, we have

$$\frac{dZ(t)}{dt} = pZ + \int_0^t D(x - s)Z(s)ds$$

and upon transforming both sides, we obtain

$$\frac{Z(u) - Z(0)}{u} = pZ(u) + uZ(u)D(u)$$

further we have

$$Z(0) = \left(I - up - u^2D(u)\right)Z(u)$$

and because the right side is nonsingular, so it follows that $(I - up - u^2D(u))$ is also nonsingular for appropriate

u. (Actually, Z(u) is an analytic function of s in the half-plane $Reu \ge a$, where $|Z(t)| \le ke^{kt}$. Then we have

$$Z(u) = \left(I - up - u^2D(u)\right)^{-1}.$$

Now, by taking Sumudu transform for both sides of Eq(1)

$$\frac{Y(u) - y(0)}{u} = pY(u) + uY(u)D(u) + F(u),$$

or

$$(I - up - u^2D(u))Y(u) = y(0) + uF(u)$$

so that we get

$$Y(u) = Z(u)y(0) + uZ(u)F(u)$$

$$= Z(u)y(0) + S\left(\int_0^t Z(t-s)F(s)ds\right)$$

$$= S\left(Z(t)y(0) + \int_0^t Z(t-s)F(s)ds\right).$$

Since y, Z, and F are of exponential order and continuous. Thus, the proof is complete for D and F being in $L^1[0,\infty)$.

We provide some sufficient conditions under which oscillation phenomenon occurs for the linear Volterra integral equation of convolution type with delay

$$y(t) = f(t) + \int_0^t \sum_{i=1}^n a_i(t-s)y(s-r_i)ds, t \ge 0$$
 (4)

where $f \in C(\mathbb{R}^+,\mathbb{R})$, $a_i(.) \in L^1_{loc}(\mathbb{R}^+)$, $r_i \in \mathbb{R}$, for i = 1,2,3,...n. Our approach is based on the method of Sumudu transform.

In this section, we establish some results which we need in the proofs of our main result. In order to guarantee the existence of Sumudu transforms of solutions of Eq(4), we assume that for the function f, there exist two real numbers $K \in \mathbb{R}^+$ and $\frac{1}{h} \in \mathbb{R}$ such that

$$|f(t)| < Ke^{\frac{t}{b}}, \ t > 0 \tag{5}$$

$$|a_i(t)| < Ke^{\frac{t}{b}}, \ t > 0, \ i = 1, 2, 3, \dots, n.$$
 (6)

Then we can state the following lemma.

Lemma 1. Assume that Eq(5) and Eq(6) are holds. Then every solution of Eq(4) has Sumudu transform.

*Proof.*Consider a solution y of Eq(4) with initial function $\phi \in C([-r,0],\mathbb{R})$; by using Eq(4) and Eq(5), we have

$$|y(t)| \le Ke^{\frac{t}{b}} + \sum_{i=1}^{n} \int_{-r_i}^{0} |a_i(t - s - r_i)| |\phi(s)| ds$$
$$+ \sum_{i=1}^{n} \int_{0}^{t} |a_i(t - s - r_i)| |x(s)| ds.$$



Multiplying both sides of this inequality by $e^{-\frac{t}{b}}$, and taking into account Eq(5) and Eq(6) we obtain

$$e^{-\frac{t}{b}}|y(t)| \le K + K \sum_{i=1}^{n} e^{-\frac{r_i}{b}} \int_{-r_i}^{0} e^{-\frac{s}{b}} |\phi(s)| ds$$
$$+ K \sum_{i=1}^{n} e^{-\frac{r_i}{b}} \int_{0}^{t} e^{-\frac{s}{b}} |x(s)| ds.$$

By Gronwall's inequality, it follows

$$|y(t)| \le \eta_1 e^{(\frac{1}{b} + \eta_2)t}, \ t > 0$$

where

$$\begin{split} &\eta_{1}=K\left(1+\sum_{i=1}^{n}e^{-\frac{r_{i}}{b}}\int_{-r_{i}}^{0}e^{-\frac{s}{b}}\left|\phi\left(s\right)\right|ds\right),\\ &\eta_{2}=K\sum_{i=1}^{n}e^{-\frac{r_{i}}{b}}, \end{split}$$

which is a sufficient condition for the existence of the Sumudu transform of y.

Lemma 2.If Y(u) is the Sumudu transform of a nonnegative function y(t) and has the abscissa of convergence $\frac{1}{b} > -\infty$, then Y(u) has a singularity at the point $u = \frac{1}{b}$ on the complex plane \mathbb{C} .

Now we shall present the main results for the oscillation of Volterra integral equation Eq(4) via the method of Sumudu transform. Let $y_c(t)$ denote y(t+c), where $c \in \mathbb{R}$. Then the Sumudu transform $Y_c(u)$ of $y_c(t)$ exists and has the same abscissa of convergence as Y(u) by noting the following formula

$$Y_c(u) = e^{\frac{c}{u}} \left(Y(u) - \frac{1}{u} \int_0^c y(t) e^{-\frac{t}{u}} dt \right).$$

The last integral defines an entire function of the complex variable $u \in \mathbb{C}$. It is clear that Y(u) and $Y_c(u)$ have their singularities at the same points on the complex plane. On the other hand, the translation of Eq(4) along a solution y by $c \in \mathbb{R}$ is the following equation

$$y(t+c) = f(t+c) + \int_0^{t+c} \sum_{i=1}^n a_i (t+c-s) y(s-r_i) ds, \ t \ge 0.$$

Multiply both sides of Eq(7), by $\frac{1}{u}e^{-\frac{t}{u}}$ and integrating it from 0 to ∞ , we obtain

$$Y_{c}(u) = F_{c}(u) + \frac{1}{u} \int_{0}^{\infty} e^{-\frac{t}{u}} \int_{0}^{t+c} \sum_{i=1}^{n} a_{i}(t+c-s)y(s-r_{i})dsdt,$$
 (8)

where $t \ge 0$ and $F_c(u)$ denotes the Sumudu transform of f(t+c). Then, we find

$$\begin{split} &\frac{1}{u} \int_0^\infty \int_0^{t+c} e^{-\frac{t}{u}} a_i (t+c-s) y(s-r_i) ds dt \\ &= \frac{1}{u} \int_0^c y(s-r_i) \int_0^\infty e^{-\frac{t}{u}} a_i (t+c-s) dt ds \\ &+ \frac{1}{u} \int_0^\infty \int_0^t e^{-\frac{t}{u}} a_i (t-s) y_c (s-r_i) ds dt \\ &= K_1 + K_2. \end{split}$$

It is easy to see that

$$K_1 = \Phi_i + \beta_i(u) A_i(u), K_2 = A_i(u) \left[\mu_i(u) + e^{-\frac{r_i}{u}} Y_c(u) \right],$$
(9)

where

$$\Phi_{i} = \frac{1}{u} \int_{0}^{c} y_{c}(s - r_{i}) e^{-\frac{(s - c)}{u}} \int_{c - s}^{0} e^{-\frac{t}{u}} a_{i}(t) dt ds$$

$$\beta_{i}(u) = \int_{0}^{c} y_{c}(s - r_{i}) e^{-\frac{(s - c)}{u}} ds$$

$$\mu_{i}(u) = \int_{-r_{i}}^{0} \phi_{c}(s) e^{-\frac{(s + r_{i})}{u}} ds$$

and $A_i(u)$ is the Sumudu transform of $a_i(t)$. The functions $\Phi_i(.)$, $\beta_i(.)$ and $\mu_i(.)$ are entire functions of the complex variable $u \in \mathbb{C}$. By substituting Eq(9) into Eq(8) we have

$$Y_{c}(u) = F_{c}(u) + \sum_{i=1}^{n} \Phi_{i} + \sum_{i=1}^{n} (\beta_{i}(u) + \mu_{i}(u)) A_{i}(u) + \sum_{i=1}^{n} e^{-\frac{r_{i}}{u}} A_{i}(u) Y_{c}(u).$$

Define $H(u) = 1 - \sum_{i=1}^{n} e^{-\frac{r_i}{u}} A_i(u)$. If H(u) = 0 has no real roots, then we have

$$Y_{c}(u) = \frac{F_{c}(u) + \sum_{i=1}^{n} \Phi_{i} + \sum_{i=1}^{n} (\beta_{i}(u) + \mu_{i}(u)) A_{i}(u)}{H(u)}. \quad (10)$$

In the following theorem we study the oscillation of delay differential equations Eq(4) by Sumudu transform method as follows.

Theorem 2.Assume that the following conditions are satisfied

 $a, a_1, a_2, a_3, \ldots, a_n$, abscissas of convergence of F(u) $A_1(u), A_2(u), A_3(u), \ldots A_n(u)$ respectively, and $a > \max\{a_1, a_2, a_3, \ldots, a_n\} F(u)\}$ has asingularity on Reu = a, but is analytic at u = a, (11)

$$H(u) = 0$$
 has no real root on $[a, \infty)$. (12)

Then every solution of Eq(4) is oscillatory.

Proof. Take a solution y of Eq(4); and in the contradictory, we assume that y is not oscillatory. Then there exists a sufficiently large T>0 such that either $y(t)\geq 0$ or $y(t) \leq 0$ for t > T.

Now if we consider the case $y(t) \ge 0$ for t > T. (The case v(t) < 0 for t > T can also be treated in a similar way). Let us take a number c > T such that $y_c(t) \ge 0$ for t > 0, namely, the function $y_c(t)$ is a nonnegative function. Assume that $\frac{1}{h}$ is the convergence of Y(u), so $Y_c(u)$ is analytic on the half-plane $Reu > \frac{1}{h}$. By Lemma 2, $Y_c(u)$ can not be analytically continued to the point $u = \frac{1}{h}$ from the right side since there is no complex neighborhood of b on which we can find an analytic function which agrees with $Y_c(u)$ for $Reu > \frac{1}{b}$. By assumptions Eq(11) and Eq(12), we see that the function on the right side of Eq(10) is analytic for $Reu > \max(a, \frac{1}{h})$. If $a > \frac{1}{h}$, and in the view of Eq(11), F(u) has a singularity on Reu = a, and $A_i(u)$, i = 1, 2, 3, ..., n, are analytic in $Reu \ge a$. Taking the Eq(12) into account, we see that $Y_c(u)$ has a singularity Reu = a, which contradicts that $Y_c(u)$ is analytic in $Reu > \frac{1}{b}$. If $a < \frac{1}{b}$, by Eq(11) and Eq(12), the function on the right side of Eq(10) is an analytic in the region Reu > a and at u = a. This implies that $Y_c(u)$ is analytic even in the strip $a < Reu \le \frac{1}{b}$. This is a contradiction. If $a = \frac{1}{h}$, by the assumptions Eq(11) and Eq(12), we see that the function on the right side of Eq(10) is analytic in Reu = a, but $Y_c(u)$ has a singularity at $Reu = a = \frac{1}{h}$, which is a contradiction. The proof is

Theorem 3. Assume that the following conditions are satisfied

 $a, a_1, a_2, a_3, \dots, a_n$ abscissas of convergence of F(u), $A_1(u), A_2(u), A_3(u), \dots A_n(u)$ respectively, there is an $i \in \{1, 2, 3, \dots n\}$ such that $a_i > \max\{a, a_1, a_{i-1}, a_{i+1}, \dots, a_n\}$. $A_i(u)$ has a singularity on $Reu = a_i$, but is analytic at $u = a_i$, (13)

$$H(u) = 0$$
 has no real root on $[a_i, \infty)$. (14)

ndent Then every solution of Eq(4) *is oscillatory.*

The proof is similar to the proof of Theorem 2.

Now we note that in Eq(4), if $a_i(t) = c_i w(t)$, i = 1, 2, ..., n, c_i are real numbers, then $a_i(t), (i = 1, 2, ..., n)$, have the same abscissa of $\frac{1}{d}$. If $\frac{1}{d} > a$, where a is the abscissa of convergence of Y(u), then it is not possible to apply Theorems 2 and 3. To cover the latter case, we have the following theorem.

Theorem 4.Assume that the following conditions are satisfied

a and $\frac{1}{d}$ are the abscissas of convergence of F(u) and D(u), and $\frac{1}{d} > a$ where D(u) is the Sumudu transform of w(t). D(u) has a singularity on $Reu = \frac{1}{d}$, but is analytic at $u = \frac{1}{d}$.

$$H(u) = 0$$
 has no real root on $\left[\frac{1}{d}, \infty\right)$. (16)

Then every solution of the Volterra integral equation

$$y(t) = f(t) + \int_0^t w(t-s) \sum_{i=1}^n c_i x(s-r_i) ds, \ t \ge 0$$
 (17)

is oscillatory.

*Proof.*Since $a_i(t) = c_i w(t)$, we can easily see that Eq(10) has the following form

$$Y_{c}(u) = \frac{F_{c}(u) + \sum_{i=1}^{n} \Phi_{i} + D(u) \sum_{i=1}^{n} c_{i} (\beta_{i}(u) + \mu_{i}(u))}{H(u)}$$
(18)

where $H(u) = 1 - D(u) \sum_{i=1}^{n} c_i e^{-\frac{r_i}{u}}$. The rest of the proof is

However, by the following example we show that for some Volterra integral equations, if Eq(15) or Eq(16), or both, are not true then all solutions of the equation do not need be oscillatory.

Example 1. Consider the Volterra integral equation

$$y(t) = 1 + \int_0^t 2y(s-1) \, ds, \quad t \ge 0 \tag{19}$$

by using Sumudu transform to Eq(19) we have

$$Y(u) = \frac{1 + 2e^{-\frac{1}{u}} \int_{-1}^{0} e^{-\frac{t}{u}} y(t) dt}{1 - 2ue^{-\frac{1}{u}}}.$$

The abscissas of convergence of F(u) and D(u) are 0, namely, $a = \frac{1}{h} = 0$. Note that D(u) = 2u is singular at $u = \infty$ and $D\left(\frac{1}{p}\right) = \frac{2}{p}$ is singular at the point p = 0. This means that Eq(15) is not satisfied. Furthermore

$$H\left(\frac{1}{p}\right) = 1 - \frac{2}{p}e^{-p} = \frac{p-2}{p}e^{-p}$$
 at $u = \frac{1}{p}$

the function $L(p) = (p-2)e^{-p}$ has only one real root $\bar{p} \in [0, \infty)$. So Eq(16) does not hold. On the other hand, if we only consider the solutions of the delay differential equation

$$y'(t) - 2y(t-1) = 0$$



with the initial functions $\lambda \in \mathbb{C}\left([-1,0],\mathbb{R}\right)$ and $\lambda\left(0\right)=1$ by using Sumudu transform we have

$$Y(u) = \frac{1 + 2e^{-\frac{1}{u}} \int_{-1}^{0} e^{-\frac{t}{u}} y(t) dt}{1 - 2ue^{-\frac{1}{u}}},$$

these solutions are also the solutions of the above Volterra integral equation. But it is clear that $y(t) = e^{t\bar{p}}$ is a nonoscillatory solution for this delay differential equation. So the Volterra integral equation has a nonoscillatory solution.

2 Polynomial approximations of the characteristic equation

Similar to the ordinary differential equations, several properties of delay differential equations can be characterized and examined by using the characteristic equations. For example, consider the first order delay differential equation given as follows.

$$\frac{dy}{dt} - ay = by(t-1). \tag{20}$$

Then applying the for example Laplace transform of both sides of Eq(20), we can obtain

$$\frac{Y(u) - y(0)}{u} - aY(u) = bS(\varphi) \tag{21}$$

where $\varphi(t)$ is an shifted initial function on $t \in [0,1)$ and y_0 is the initial condition at the point t=0. We note that y_0 can be different than the value $\lim_{t\to 1} \varphi(t)$. Here the Sumudu transform is defined as

$$S[f(t)] = \frac{1}{u} \int_0^\infty e^{-\frac{t}{u}} f(t) dt$$

on the finite time. Further, note that this is equivalent to applying the Sumudu transform on the function which is extended by zero on $(1,\infty)$. For the first interval [0,1] the Sumudu transform of y(t) can be expressed as

$$Y(u) = \frac{buS(\varphi) + y(0)}{1 - au}$$
 (22)

and can be calculated by evaluating the inverse Sumudu transform of S(y(t)) at t = 1 (denoted by S_1^{-1})

$$y_1 = S^{-1}[S(y)](1) = S_1^{-1}[S(y)].$$
 (23)

By using the following notation

$$Y_0(u) = S(\varphi), \ X_1(u) = S(y),$$
 (24)

equations Eq(22) and Eq(23) can be written as

$$Y_{1}(u) = \frac{buY_{0} + y_{0}}{1 - au},$$

$$y_{1} = S_{1}^{-1}[Y_{1}(u)].$$
(25)

In general

$$Y_n(u) = \frac{buY_{n-1} + y_{n-1}}{1 - au},$$

$$y_n = S_1^{-1} [Y_n(u)].$$
(26)

Substituting Y_{n-1} into Eq(26) we have

$$Y_n(u) = \frac{bu\frac{buY_{n-2} + y_{n-2}}{1 - au} + y_{n-1}}{1 - au}.$$
 (27)

The repeated applications of this procedure terminates at y_0 and one arrives at

$$Y_{n}(u) = \frac{y_{n-1}}{1 - au} + \frac{bu y_{n-2}}{(1 - au)^{2}} + \frac{b^{2}u^{2} y_{n-3}}{(1 - au)^{3}} + \dots$$

$$+ \frac{b^{n-1}u^{n-1} y_{0}}{(1 - au)^{n}} + \frac{b^{n-1}u^{n-1} Y_{0}(u)}{(1 - au)^{n}}$$

$$= \sum_{i=0}^{n-1} \frac{b^{n-i-1}u^{n-i-1} y_{i}}{(1 - au)^{n-i}} + \frac{b^{n-1}u^{n-1} Y_{0}(u)}{(1 - au)^{n}}.$$
 (28)

By using Eq(26), we have y_n in terms of $\{y_0, y_1, ..., y_{n-1}\}$:

$$y_n = S_1^{-1} \left(\sum_{i=0}^{n-1} \frac{b^{n-i-1} u^{n-i-1} y_i}{(1-au)^{n-i}} \right) + S_1^{-1} \left(\frac{u^{n-1} Y_0(u)}{(1-au)^n} \right) b^{n-1}.$$
 (29)

On using the linearity of the inverse transform

$$y_n \simeq \sum_{i=0}^{n-1} S^{-1} \left(\frac{u^{n-i-1}}{(1-au)^{n-i}} \right) b^{n-i-1} y_i$$

$$= \sum_{i=0}^{n-1} \frac{t^{n-i-1} e^{at}}{(n-i-1)!} b^{n-i-1} y_i, \quad (30)$$

at t = 1, the Eq(30) becomes

$$y_n = \sum_{i=0}^{n-1} \frac{e^a}{(n-i-1)!} b^{n-i-1} y_i.$$
 (31)

Here we neglected the term $S_1^{-1}\left(\frac{u^{n-1}Y_0(u)}{(1-au)^n}\right)$. The justification for this lies in the fact that stability should not depend on the form of the initial function, i.e. φ is chosen so as to make this term negligible. Since for any positive integer n the state y_n depends on all previous terms. Thus the characteristic equation of this map will be obtained by substituting $y_i = \lambda^i$ ($\lambda = 0$) and j = n - i - 1, so Eq(30), can be written in the form of

$$\lambda^{n} - \lambda^{n-1} e^{a} \sum_{i=0}^{n-1} \frac{\left(\frac{b}{\lambda}\right)^{j}}{j!} = 0.$$
 (32)

The sum can be recognized as the exponential function

$$\sum_{i=0}^{n-1} \frac{\left(\frac{b}{\lambda}\right)^{j}}{j!} = e^{\frac{b}{\lambda}} \frac{\Gamma\left(n, \frac{b}{\lambda}\right)}{\Gamma(n)},\tag{33}$$



by substituting Eq(33) into Eq(33), we have

$$f_n(\lambda) = \lambda^n - \lambda^{n-1} e^a e^{\frac{b}{\lambda}} \frac{\Gamma\left(n, \frac{b}{\lambda}\right)}{\Gamma(n)} = 0, \quad (34)$$

as an *nth* order polynomial approximation to determine the stability of equation Eq(20). Since we replaced the original stability problem with that of a difference equation, the condition for stability now can be stated as $|\lambda| < 1$.

Acknowledgment

The authors would like to extend their sincere appreciation to the Deanship of Scientifc Research at King Saud University for its funding of this research through the Research Group Project number RGP-VPP-117.

References

- [1] S. Balamuralitharan, S. Rajasekaran, A mathematical agestructured model on Aiha using delay partial differential equations, Australian Journal of Basic and Applied Sciences, 5, No. 4 (2011), 9–15.
- [2] Glass L. Mackey M.C., Pathological conditions resulting from instabilities in physiological control systems, Annals of the New York Academy of Sciences 316 (1979), 214–235.
- [3] C. Haurie, D.C. Dale, R. Rudnicki, and M.C. Mackey, Modeling complex neutrophil dynamics in the grey collie, J. Theor. Biol. (in press) (2000).
- [4] An der Heiden U. Mackey M.C., The dynamics of production and destruction: Analytic insight into complex behavior, J. Math. Biology, 16 (1982), 75–101.
- [5] Bachurskaya A. F., Uniqueness and convergence of successive approximations for a class of Volterra equations, Differential Equations 10 (1974), 1325–1327.
- [6] Balachandran K. and Ilamaran S., An existence theorem for a Volterra integral equation with deviating arguments, J. Appl. Math. Stoch. Anal. 3 (1990), 155–162.
- [7] Bownds J. M., Cushing J. M. and Schutte R., Existence, uniqueness and extendibility of solutions of Volterra integral systems with multiple, variable lags, Funk. Ekvac. 19 (1976), 101–111.
- [8] Werbowski J., On some asymptotic behavior of solution of a Volterra integral equation with delay, Demonstratio Math. 13 (1980), 579–584.
- [9] Hassan Eltayeb and Adem Kılıçman, On Some Applications of a New Integral Transform, Int. Journal of Math. Analysis, Vol. 4, 2010, no. 3, 123–132.
- [10] A. Kadem, Solving the one-dimensional neutron transport equation using Chebyshev polynomials and the Sumudu transform, *Analele Universitatii din Oradea. Fascicola Matematica*, Vol. XII, (2005), pp. 153–171.
- [11] A. Kılıçman and H. Eltayeb. On the applications of Laplace and Sumudu transforms, *Journal of the Franklin Institute*, doi:10.1016/j.jfranklin.2010.03.008.

- [12] A. Kılıçman & H. Eltayeb, A note On Integral Transforms and Partial Differential Equations, *Applied Mathematical Sciences*, **4**(3)(2010), pp. 109–118.
- [13] A. Kılıçman, H. Eltayeb & K. A. M. Atan, A Note On The Comparison Between Laplace and Sumudu Transforms, *Bulletin of the Iranian Mathematical Society*, Vol. 37, No. 1 (2011), pp. 131–141.
- [14] A. Kılıçman, H. Eltayeb and P. Ravi Agarwal, On Sumudu Transform and System of Differential Equations, *Abstract* and *Applied Analysis*, Volume 2010, Article ID 598702, 11 pages doi:10.1155/2010/598702.



Hassan Eltaveb serves as a Assistant Professor at the Department of Mathematics, King Saud University, Saudi Arabia. He received his BSc. and MSc. degrees from Department of Mathematics, of University Khartoum; of University Sudan, Sudan and Ph.D. degree from University Malaysia

Terengganu, Malaysia. He has worked in University Putra Malaysia one year as Postdoctoral researcher. Currently he is a full tenure in King Saud University, Saudi Arabia. His research areas includes partial differential equations.



Adem Kılıçman is a full Professor at the Department of Mathematics, Faculty of Science, University Putra Malaysia. He received his B.Sc. and M.Sc. degrees from Department of Mathematics, Hacettepe University, Turkey and Ph.D from Leicester University, UK. He has joined University Putra Malaysia in

1997 since then working with Faculty of Science and He is also an active member of Institute for Mathematical Research, University Putra Malaysia. His research areas includes Functional Analysis and Topology.